WA Gl )l B - j oS (5052 9 (S oo

»}§¢@>wéw,;w,au¢m;'c«l¢-

e
\@aﬂﬂan g

(S AGleila

iy i,

a5la andlas VO amio 3 1) el slesal) ¢ aslisenly JonSS 3l iy m

o lais | OY g

| (aip831+) yem |

| (4835 1Y) ol ,ym |

(Eoedl iy o o5 Sl 2D S3ILN 85 Lald a3 Lo 1 g Lo — VO
g OLLE 51 K el aly calils ol (O
) o g 3 48 sl (S5 A 2l (Y
ol ot QLS @ 5 o S el (F
ol i QLS & 5 o Saliie il (¥
(ot oo ) S 5 5 Ols (655 50l 15)ld G o padll g2 L V7

SV 5 8l o Sl onons o5 ()

’ S5V Bt s Sl el DS (Y
/,um,(aﬁgm’_‘,ﬁ;\},mbjl;;s(v
;uﬂugﬁmw;wr@,j@s(?

ol iy Sy 08 e panidlgs sale — VY

Jozes (Y 60
ik (F S
G, R HIE IR gl 52 L - VA
s Ols (Y 145 058 ()
TS 0S5 (¥ 1as 0, (v
(o) S LS Gl Jls I L3P Slasell ga Lo - VA
LLs (Y ’ Gl ()
sl (¥ s (¥

?},ﬁdlyl;ﬂ,d‘_g:@ad|g}°—/\'
Jynie 1 Blayl pogallsty ()
Jebs Uge LaVIG 23 (Y
Sy Lgalesl ZalS (- AN

Jos lade Sl e i1 I (Y
M 153l Wyt 017, (F

St (Y s ()
s (¥ Sy (Y
(a5 %) Gy, m
Cag s 4 SN o Ol o e 3l 7653 = AY
Ol gl (¥ 45 O)
Oly (¥ 45l (T
Sap glate ol oIS 053 & Ghate Jlate oIS cadie 5 IUSI jas— AV
e DUl (¥ ol oleze ()
50 dame OUab (¥ Olackw Ol (1
Gr (51468 4 S a2 0L (655 b iyl 4,5 (gloy 95 S-Dsl —AY
S35 lp g sn
oLl alia (Y oldemme (1
ol ledass (¥ oLs Lo (F
305 (I8 25 g plUS )3 Gl oo BT - AD
ol (¥ B
a5 (¥ Olgauo! (¥
oldaly IS GLILS s SIS 0l 5 omslins 4 40 2 3 LS 3l = AF
$ag0 Sl

oLisl —sL3 S (Y S 056 — 5 e S
SIS 056 —sLs S (F oLisl — 5 et S (Y
ol okibe sl 4y (gl0) 95 4 S Ol Fea, U sbesl o s = AV

4155 (Y a,Lasl ()

4 520 (Y a4, (Y
| (aids ) Sy m |
50 A o 53 ok (e Aty il 1S (g g 51 5L e (512 = AN
fes s

eyl (Y )58 ()

JJE (¥ sl (VY
AEYPSRPVItI rl.kS 25 T (3 AQ

5,A1Y Ll O)

Uy 31 (¥ L (7

S35 o 51 558 33 ¢S gl o Conde Jolo 4

o 53l (Y Sl 5 gy 1 O

136LS 5 T (¥ Ol 5 Olsgin (¥
N3y oS ol 51 plpt 5 ST Blowd 4 Jgaazes pliS oS — 4
Sl

S (Y S ()

<5 (F s (¥
§ S (gl aithaie Silatums (gLl 3) H10S L -4 Y

s (Y Q!

O‘;)MJ (¥ BB} (r

J,;,,s;<(@L€?J§L;|.)bw;,;w,ﬁ;ﬁyéugih}sywﬁ%—w

Sl 033

JAYAN YA (N
AN TS YARKSS
agr ar ol amalr (g8 S (glie — AF
e (¥ 55 ()
sl S « slazel (¥ Izl (1

SinS o S g i st b Kand ¢ b Loyl d 5 KaldS i — 40

Q.U,u}j);(\' (:L'osl(\
0L g (¥ Koa sl (F
Gapd o L Kinjh QUsSE 5 Ay Corpe 300 s K Jasl - 47
Sonp el (Y Senp ol ()
S Jg (¥ S aslal (Y
PIAS Lged oo o b ol 51 @byl 5 0lald; 45 s Jolo oo 5 guslisl — A
Fee)
G355 5 o Kp b 4 £ ST (Y () 2 OO

olasl Sl (¥ odiilun ool 5 ol D (Y
Figd oo O 43 G335 5 Sl Ly 35T ) 500 4 )3 = SA
ps Olgzr (5Lay 528 Ol ol i) pte ()

pi Olgr sy 525 Ols B, (Y

lope S50 sl 525 Ola B, (F

pr Ol (5lay 528 Sman (¥
Sy (ool Jlil 2 egs — 49

hleee 4 g (Y <l O

K (¥ glal (v
?>|>_,¢J.,<.:;a¢|3w,:ﬁ|,¢m.sarl§@w(|45— Voo

sole il (¥ Srar 5 Sow milio ()

Rt 3 S malis (¥ 50318 4 anmly s (1

rfswyjrﬁﬁbgfw|twlbujlw|yjﬁf&édﬁﬁf—é\
oo oS 22 DS L b Joo ol 5 s oo alsl 1S et didor e o b
SO | r‘.\S Aﬁw‘sucf coluw

FY(Y YY ()

vraa[ (s SF (Y
?g:.ulrUS]()g:cJ.al;-M\a.l()gT. Ceofdc logy o,-’T'Jf|—0\’

V(Y v (N

Y(f YIA(E

ol ool ity 48 TS N-Y 53 88 08 0 Sy aipe N (gl - OF
§ml ki ol 5 4 I N S 4T Jles

E"i—;‘) (v %(\
A e
?(\c \-“*"(Y
$als ady J.:;JT‘/T :’T?a.\;l.u - Of
V(Y ()
Y(f Y (Y

¥sinx 4+ Teosx

Sl oS S e  eoes S e aSL tOX=Y 31 - 00

¥ (Y Y ()

-Y b

?(\c ;(Y‘
Sl gl ax KoK Lsb(k + VYBA  DC +CB + AD 51 - 08

-\(Y -Y ()

\(f oY
| (ai350) slaidlm |
..... Lyl 9358 oo ol slac Il ‘cab,,-a,.:ﬁg—av
Sl 39 p30 e

Siapdos = Sy (Y i ok = Fsdoa()

S s — S3gda (¥ ‘5135.\%__1—;@;:;(\"
A3l g Jalge p11S 36 s il dds — OA
Comezr 5 Ads (Y a3 5455 ()

W}Jﬁi).}(f AiLA}w_}C,.:w(Y'

)l oS oSl i 51 (g5 lanly) fos — 04

Q)—fw’jtj)\:-(" (a‘j’-(\

ot (¥ 09,5 (Y
Eols29s JU &5 5 dixr ¢ oo o i ) = 7

saelas 5o

slaib gaslai 5 JS gdslas (Y

S gaslas 5 el (Y

slaab guelas 5 ol (Y
sl (s pilis LBy (slams 4y 45 plaS = £
oS (F S (r e (Y
Shls a8 (@33l mig sew 3l Syl glaeS 4 s el (l.lS g — PY
GrS o bt S L o s oS L2 208 35 g A b drlopun
?::dea

s oS a4y o 5 VIS 8y 5 ()

aa ()

L;}degoLé&\Qyuww. ‘kf)}aﬂw« (Y
rl.@,.»x!;}.\msyq,&lsx(\"
G sk oMales rl;,._}l(\‘

| (4> 1) olodlm |
s = a ¥ fl.LS slas —FY
Sbg alidgs 1 o ()
e )l 3l 1 203 (¥ o e
Sl 458 pAS pU (9,5 sla L ) Sy STolar— £

033 Ol il gl (Y

55 (Y LLiQy
ol (f Sa=3
Cayls oDl Lale ay 5§ (l.\S -£0
et i (Y Jloasdll (1
MJM (¥ 'Cb';o)w(\"

?g:.ulcé))lSu_u.a;'-L&xg)frlJSJ: -f#
sl 0 55 ol 5y (¥ 551 as pmdige BT Le (A
ﬂ)\sszbsjﬁ-sblu(\‘ 39 losl sl luseas (¥

6)‘-15/4;_‘.;,‘&} $Lrey 93 5 SaldS 55 ol pwanshiie 5 g5lsp Oliuls ci —FY

Socwl ol
e pas (Y Sy ae ()
32l ene (¥ S5 s (¥

Ols ol Ul oo oS d s gwgsp 5l 2wy 35 oLl lee — FA

s (Y S,
by Sl (f g (7
Els 295 paets gall . .. Frabag S saes - 24

Sl ALy 15 45552 51O
S i i 5 o g S (Y
Qu\éa}gb}:}WJJﬁhk(\‘
S5 ok (5 5 gl (sl OLIpALSY iy by 8 S (gl Ve
Sols cllas (55 4oy >

s olel s —a 5 (Y sl —gylazal (A

JERERNE Slyn— g
?w|¢»uﬂ,»;_§fu_}§(|.‘5ﬁ—\/\

Sbdss (Y 156 ()

&5 (¥ S8 (¥
05 508 (o ) e O [ Lo 580 590 plnas b 5 sla gl 51 St = VY
fel

50 S 55 a0 3l 58S (Y 53 T3 (gl gl ()

Olg ok oty 53 o3 5 &S (F S ail s il 518 S s (Y

LTC PRV It plas 5 Ul sl ol Il 530 yls glins — V¥
255 b Glos |y 5250 ()
a)(.ﬁl?;;;;@?\!uw(v
Srb i a8 ol lie Bse Y o (F
S S5l Y en (F
3@ e.ui%f(n.xsﬁ S 55 Ol S plamlsiladg s — VF
G oy (Y
W 3l st (F

3lapgs ()
S

=00 DY g

()Ll T @y gy o) By I 5Ll sl 653 o = YO

3,ae (Y oz a3 ()

adnb alox (Y o] alox (Y

(aipdsA) B)leom

J3U s gl oS |y axl il o - wlu 3 a8 Canl Canys = YF
..... ;L..&l;.ij)f):clgalw|@Mdjagjﬁﬁiﬁwhayﬁ
I

fas = s (Y Olusl 6352y slal = >5()

fas — > (¥ Ol a5 (Y
S s pa (590l a 3,8 a5 55 Gy Gl Ll YV

sl sayls ()

et IS Ll g 5 sl oSl S (Y

Sl elalt (F

S g (¥
3 e S Sl 5 Ol i 3T 053 0,3 sl agl e pons — YA
Sl o AT 5 B oyl 55 (65 32) 858 (5La e

oLt (Y olex (A

Ol&es 5 (f Ole 5 oLl (¥

prlrs oL O daul sy 45 3,105 (5 6L 5 S oo Iy Ol 45 JLo -4
3515 oS ax Jbo mloo b 51 o 0l s 53,8
ol s (F ol Gt (Y
Sl Pl 53 e il 5 a3 sliS oS Lol plas =¥
S 31 5 5 by me a0 el (Y slesl ()
S e 5 5 (¥ 8555 5 oo (7
o RESPPPIRCR LS (VR
w5 (Y Sone 3 >3 S5 (O
JLs (¥ sl 6 5 Las (7
,°L~§;|M¢m,&.ﬁ,,}=%m| P PIWSJOWCINCES &
Sslas o LSl oy Jal s 1y ol
Q._.LZS(\

R (Y
('.5-;3-1.5 (¥
Sar smedd podiaucad g s - YY
S e a3l (Y 225 = 25 ()
035 —a 3L (¥ 3l S s o2 (F
2 b a8 s o3l odoas 3l ds pUledas 4 Ol o adlace pl - ¥¥
Sb O g oshyl o Ao 55 5 S (e 1y LT 5 axils alolb L

| Aé)_’l.:.;
Sl (Y ey 5 Las ()
el (F ki (¥

wicby (Csin o Qlwml sl a (m2) 2 Jy opas muly ilas - 7O
ol IS 15 s ool 4 48 oS0 3 aned

e o3 bl (Y o s slgl (O

el QLS 4y o, (¥ ol oy 4 gz (F
Sl 4 Lo pulily bl Juole (6)) s plal i hole b Gallas — Y8
ol plus Niamaly 3 giS Sl 5 Sl

el ol an foanss (Y S5l s g By e el O

ol @atlemy e (67 by Obler 4 ez g (¥
Aol oo 2 45 (390 o8 S o 70 4 013 — YV

u}—>(Y c)(\

4l (¥ oy pan (¥
ol 35290 (|J54Jy Ly ij&pM)A—VA

o eSs (Y ol ()

oLl (f s (T

(@b")wm'l

39- Our very close friends can enter the zone which is

1) personal 2) intimate

3) public 4) social
40- It was .......... because of you that | left town.

1) ignorantly 2) politely

3) solely 4) silently
41- Amir suggested his family......... one picnic for the
day.

1) to go 2) go

3) went 4) gone
42- They built their holiday home on a very
pleasant........ of coast line.

1) scholarship 2) saviour

3) stretch 4) scratch

43- Unlesshe....... well, he coulden’t have been thefirst
winner.

1) have played 2) had played

3) has played 4) played
44- He says that they....... to travel to Mashhad next
month.

1) goes 2) went

3) had gone 4) are going
45-Thetrain........ thestation, had it not been too foggy.

1) could leave 2) might have left

3) will leave 4) will have left
46- | wish I....... the exam yesterday.
1) haven’t had 2) wouldn’t have
3) won't have 4) hadn’'t had
47- 1 want to have my hair........ this week.
1) cut 2) cuts 3) to cut 4) cutting

48- Thispart of earth ismade of several huge pieces of
rocke like the pieces ofa cracked plate. It’s...........
1) mantle 2) crust
3) edges 4) cracks
49- Which oneiswrong?
Do you want to buy him apen?Why doesn’t hedoit him.

1) tobuy 2) want 3) doesn’t 4) him
50- he....... his homework when | arrived.

1) was finishing 2) has finished

3)had been finished 4) had finished
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